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~ EXAMPLE 1

\, eExample 1 - Flow between two reservoirs
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Figure 1 shows two reservoirs connected by a 2 mile long, 2 foot diameter, cast iron pipe. The
elevation difference between the two reservoir surfaces is 20 feet. Determine the discharge
rate of the reservoir elevations remain unchanged.

Figure 1: Two reservoirs connected by a cast iron pipe
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~ EXAMPLE 2

"o Example 2 — Three reservoir (branched)

7\

Elev. 100 m

Elev. 80 m

_— lw=800m

Elev. 60 m

Reservoirs A, B, and C are connected as shown?® in Figure 11. The water ele-
vations in reservoirs A, B, and C are 100 m, 80 m, and 60 m. The three pipes
connecting the reservoirs meet at junction J, with pipe A.J being 900 m long, B.J
being 800 m long, and CJ being 700 m long. The diameters of all the pipes are
850 mm. If all the pipes are ductile iron, and the water temperature is 293°K,
find the direction and magnitude of flow in each pipe.



